FRY mE - HEHIAFIECRESER (X - £F)
m BRI AFIRGRIERE (%) HER AR A RS (8F3%)

=Hiva am B #E (kg) HeER (M) teER [=Fiva H fay 3t #E (kg) He=R =# (M) te=R
1|7z h& 7,676,727 15.1% 1,102,277,350 9.7% 1|78 13,555,026 26.7% 2,871,821,305 25.3%
2|F v R 6,059,078 11.9% 505,614,561 4.5% 2|dtiEE 10,193,760 20.1% 1,431,300,947 12.6%
3[lEh L & 4,005,691 7.9% 544,730,893 4.8% 3| xR 7,010,926 13.8% 1,933,602,424 17.1%
4172\ A 3,641,404 7.2% 338,462,074 3.0% 4|ERE 5,746,301 11.3% 1,114,319,519 9.8%
5| & 2,770,497 5.5% 841,025,745 7.4% 5| R¥FR 2,242,681 4.4% 567,072,460 5.0%
6| L %X 2,723,307 5.4% 467,875,285 4.1% 6[mER 1,619,079 3.2% 456,562,460 4.0%
"NEwo Y 2,647,814 5.2% 831,490,056 7.3% T|ZEME 1,456,250 2.9% 238,670,203 2.1%
8[ICA LA 2,309,706 4.5% 327,106,431 2.9% EGESNITS 1,027,090 2.0% 93,490,161 0.8%
9| b=k 1,902,184 3.7% 660,584,258 5.8% IFHRER 1,015,993 2.0% 203,933,334 1.8%

10[IZ5NAE 1,254,180 2.5% 530,936,904 4.7% 10| RiFE 907,933 1.8% 137,608,424 1.2%

Z D 15,835,122 31.2% 5,179,794,674 45.7% Zz D 6,050,671 11.9% 2,281,516,994 20.1%

aFt 50,825,709 100.0% 11,329,898,231| 100.0% A&t 50,825,709| 100.0% 11,329,898,231 100.0%
mEMAFIBLREERS (RE) HEHR AFIEG A ERRES (RE)

(=X m B #2E (k) bR =#(M) LR NEAL HH faT s #E (kg) L= =% (M) LR
1{HHhA 2,151,156 21.4% 606,937,699 12.8% 1| FHRR 1,285,397 12.8% 471,960,783 10.0%
2[WAZ 1,700,740 16.9% 598,418,737 12.7% 2|TFER 1,079,685 10.7% 670,220,490 14.2%
3L 1,141,959 11.3% 321,754,883 6.8% 3|ER R 1,026,756 10.2% 337,253,173 7.1%
Alnwb 713,229 7.1% 959,922,156 20.3% 4 RBE 810,802 8.1% 691,656,293 14.6%
5| Xmav 643,584 6.4% 343,232,219 7.3% 5| Zi 2 802,251 8.0% 536,795,968 11.4%
6% L 618,404 6.1% 246,573,380 5.2% 61EER 713,542 7.1% 217,707,616 4.6%
7N\h&E 463,293 4.6% 132,128,016 2.8% UL 699,176 6.9% 229,753,091 4.9%
8[3&ES 449,048 4.5% 712,998,149 15.1% 8|FIF LR 546,395 5.4% 140,752,114 3.0%
9|/ NFF 291,177 2.9% 55,387,041 1.2% 9[Lz & 493,394 4.9% 274,203,121 5.8%

10|LW& A A 204,635 2.0% 58,023,889 1.2% 10|REALE 488,427 4.9% 150,249,536 3.2%
Z D 1,689,942 16.8% 691,993,146 14.6% Zz D 2,121,340 21.1% 1,006,817,130 21.3%
a% 10,067,166 100.0% 4,727,369,315| 100.0% =B 10,067,166| 100.0% 4,727,369,315 100.0%




mB - HAHE AR IR SR

(NIT& - &%)

BFRY
m BRI ARIRGRERS (L&)

(=X m B #E (kg) b= =#(M) b=
1|1 L8 952,425 78.2% 103,136,718 41.4%
2|5 RERE 51,454 4.2% 83,436,171 33.5%
AR 32,102 2.6% 14,662,799 5.9%
AREY 2 —X$E 12,519 1.0% 2,965,558 1.2%
5|z IR EF 4 3,220 0.3% 5,732,326 2.3%
6|BFHY 1 —X$E 196 0.0% 90,758 0.0%
7
8
9

10
Z D 165,372 13.6% 39,377,841 15.8%
A% 1,217,288| 100.0% 249,402,171 100.0%
mBEMAFIBLREERS (24

(=X m B #2E (k) bR =#(M) LR
1|7z h& 7,676,727 12.4% 1,102,277,350 6.8%
2|F v R 6,059,078 9.8% 505,614,561 3.1%
3[iIEFN VL & 4,005,691 6.4% 544,730,893 3.3%
417\ A 3,641,404 5.9% 338,462,074 2.1%
5| & 2,770,497 4.5% 841,025,745 5.2%
6|L XX 2,123,307 4.4% 467,875,285 2.9%
"NEwa Y 2,647,814 4.3% 831,490,056 5.1%
8lICA LA 2,309,706 3.7% 327,106,431 2.0%
9| A DA 2,151,156 3.5% 606,937,699 3.7%

10| b=k 1,902,184 3.1% 660,584,258 4.1%
Z D 26,222,599 42.2% 10,080,565,365 61.8%
a% 62,110,163| 100.0% 16,306,669,717( 100.0%

HE A AR A B RS (L&)

[=Fiva H fay 3t #E (kg) He=R =# (M) te=R
1| AR 795,112 65.3% 91,609,965 36.7%
2|TFER 187,502 15.4% 23,393,282 9.4%
3|ERR 121,088 9.9% 21,073,520 8.4%
AEER 59,069 4.9% 59,507,969 23.9%
5| R¥FR 10,819 0.9% 25,401,627 10.2%
6|REARIR 6,570 0.5% 1,363,176 0.5%
7|%2MHE 6,263 0.5% 2,299,768 0.9%
B|ERER 6,180 0.5% 4,923,072 2.0%
9|+ E 5,028 0.4% 3,220,851 1.3%

10| &3 E 4,543 0.4% 5,368,475 2.2%
Zz D 15,113 1.2% 11,240,466 4.5%
=B 1,217,288 100.0% 249,402,171 100.0%

HE A AFIE R ERE (&)

[=Hiva H fer 3t #E (kg) i =H (M) LeE&
1|FEER 14,822,213 23.9% 3,565,435,077 21.9%
2|dtiEE 10,250,284 16.5% 1,441,251,857 8.8%
3| ZRIIR 7,817,720 12.6% 2,475,766,867 15.2%
AlEFRER 5,889,355 9.5% 1,142,037,431 7.0%
5| R¥FR 3,064,303 4.9% 1,284,130,380 7.9%
6| FRE 2,304,909 3.7% 676,869,465 4.2%
T/ ER 1,624,556 2.6% 457,560,635 2.8%
8|ERE 1,532,670 2.5% 295,907,922 1.8%
RN 1,324,105 2.1% 476,583,812 2.9%

101fEE R 1,247,210 2.0% 360,741,303 2.2%
Zz D 12,232,837 19.7% 4,130,384,968 25.3%
=B 62,110,163| 100.0% 16,306,669,717 100.0%




